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QUESTION 1

What does the exit status 0 indicate about a process? 

A. The process ended without any problems. 

B. The process was terminated by the user. 

C. The process couldn\\'t finish correctly. 

D. The process waited for an input but got none. 

E. The process finished in time. 

Correct Answer: A 

 

QUESTION 2

The output of the program date should be saved in the variable actdat. What is the correct statement? 

A. actdat=`date` 

B. set actdat=\\'date\\' 

C. date | actdat 

D. date > $actdat 

E. actdat=date 

Correct Answer: A 

 

QUESTION 3

Which command lists all files in the current directory that start with a capital letter? 

A. ls [A-Z]* 

B. ls A-Z 

C. ls A-Z* 

D. ls --uppercasefiles 

E. list-uppercase-files 

Correct Answer: A 

 

QUESTION 4
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Which command will display the last line of the file foo.txt? 

A. head -n 1 foo.txt 

B. tail foo.txt 

C. last -n 1 foo.txt 

D. tail -n 1 foo.txt 

Correct Answer: D 

 

QUESTION 5

What two character sequence is present at the beginning of an interpreted script? (Please specify the TWO correct
characters only) 

A. #! 

Correct Answer: A 

 

010-100 PDF Dumps 010-100 VCE Dumps 010-100 Braindumps

Powered by TCPDF (www.tcpdf.org)

010-100 PDF Dumps | 010-100 VCE Dumps | 010-100 Braindumps                                3 / 3

https://www.pass4itsure.com/010-100.html
https://www.pass4itsure.com/010-100.html
https://www.pass4itsure.com/010-100.html
http://www.tcpdf.org
https://www.pass4itsure.com/010-100.html
https://www.pass4itsure.com/010-100.html
https://www.pass4itsure.com/010-100.html

